aF0 35y 5 2 % 15
[EELIERE A i _ JREBEE
T e
% i a i # @ #
bl B2 - 3% Eee? — | B
B1~3% =it — | B
JEM 1 ~6TH £ — | B PeHE bR bhYE
JERT 1 - 24 E=:1 — | B M }j
Z| {LFHRIRT £ 30 | 1.1 4.3 6. 46 108 11
Fo| KET 1~ 34 ko — | B R
iy AHA g1 fl4. 30 6.4 10R0 11
FEBIT1~2TH |2 — | B
B 1~3% et — | B b
I 1~ 7 4% Excd — | EERR b
L &@ETH 1~10%8E — | B#& I
ESENNE 2~ 940 — | B HevE
FHE1~b% Dk (AER — | B#k e b
LA Rk 30 | L3 9.8 11 11t 11
FICHT £ - | B
FI1~T% I — | B 2k
1 RKIE1~8% AL P — | B kME Lk bei
i R X Ak 30 | L0 11 W11
RIKH1~3% g — | BB HeiE ekl
FEE4~7% Ecei = | BB
Bl 1 1~2 5T Hi2hk — | B#R PEHE bEME HRYE
'S £ 30 | 1.1 pME 430 6. 40 10RE 11
& BB o — | B
EHEB1~3TH |28 - | B
7ol PERET1~3TH |8 — | B
W SRET1 1~24TH |2k — | BB | kW tYE
3 BT 1~ 7 TH e — | B e e
O M1~ 4% [EeAlaze: = | HH kh@] b




aF0 35y 5 2 % 2H
[EELIERE A i )R
o rm usard] m A m m 6 PN EEBEERESLRTIEES
% i a 2 # @ # e
O HEH L~ 4% [Eeplei L idrer
1 EESEIREHUEN o B H K i 4. 5 7.7 W11
2 1%1-2THKU1%5-6TH
(1) EiE4 08B 30 | Lo 13 15
(2) EFLA o Hs 30 | Lo 9.8 11
3 2%-3%0%1-2TH, 3%4 |30 | Lohosgh 11
THARU4%1TH
4 RSO 30 | 1.0 4. 500 7.7
RIEHEL~1 58 [ LK = | B m@vmm
AT L sk
1 FElREUIER N O A X W45 7.THE LIRE 11
2 1HM10-115KR2HR11E
(1) EiE4 0Bk 30 | Lo 13 15
(2) LMol 30 | L1|f 9.8k 11
3 1HMERUC2MO1 45LALDOEE4 030 | L1|F 9.8% 11
R
4 1M1 7~1950OEELO0EBNE 30 | 1.0 4. 580 6. 4% 116 11
S0 itk
5 3#10-118KR04#12- 1330 | Lo/ o8h 11
52
6 LRSI o> it 30 | 1.0 ML 4300 770 1R 11
SRIEAE EFCLASR O itk 30 | 1.0 [l 4. 34 1 11
HEMR1~35% |28 — | B ek
SRS 1 7 £t 30 | 1.0# 4.3 W11
L Ko 30 | 1.0 4.3 1 11
E T 7 ~2 2 TE &K = | BB be¥E
A R Ece 30 | 1.0kl 4.3l 6. 1pE 11
RET12~25TH |42k — | B
B 1~ 9%l Ex:1 — | B
BEF@E1I~17TH &8 - | B




AT 35Sy ’f?':xf‘ ?.‘4‘3 § RY=1
mCHT A 4 - B FE) | RS B
=1 - . fis e [ AL A AR I R A SR
@ " (TR XkF4 WM # W & 5 ol =] H | |k | B | R |
% e i i # fff " i

T EETL~ 2% ATk - | B
b KET1~3TH e — | P&

FELisk Eoein 30 1.1 [l 4. 500 6. 4 10 11




